





Required Survey Sample			50 + 80% of 1 = 51





Required Number of Responses	80% x 51 = 41





PERSONS PER HOUSEHOLD			125 ( 38 = 3.29





Percent LMI						125 + 3.29(3)	41 Resp. Numbers Required


											   -38 Responses Received


												 3


								125 + 10 = 135





								95 ( 135 = 70.37%





Total Number of Beneficiaries	3.29 x 51 = 168





Number of LMI Beneficiaries	168 x 70.37 = 118





Number of LMI Households		118 ( 3.29 = 36
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Required Survey Sample			100% = 49





Required Number of Responses	80% x 49 = 39.2 ( 40





PERSONS PER HOUSEHOLD			108 ( 45 = 2.4





Total Number Beneficiaries		2.4 x 49 = 118





Percent LMI						90 ( 108 = 83.33%





Number of LMI Beneficiaries	83.33 x 118 = 98





Number of LMI Households		98 ( 2.4 = 41
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Required Survey Sample			90 + 50%(17) = 99





Required Number of Responses	80% x 99 = 79.2 ( 80





PERSONS PER HOUSEHOLD			261 ( 100 = 2.61





Total Number Beneficiaries		2.61 x 117 = 305





Percent LMI						201 ( 261 = 77.01%





Number of LMI Beneficiaries	77.01 x 305 = 235





Number of LMI Households		235 ( 2.61 = 90
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Required Survey Sample			50 + 80%(2) = 52





Required Number of Responses	80% x 52 = 41.6 ( 42





PERSONS PER HOUSEHOLD			147 ( 52 = 2.83





Total Number Beneficiaries		147





Number of LMI Beneficiaries	129





Percent LMI						129 ( 147 = 87.76%


Number of LMI Households		129 ( 2.83 = 46
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Required Survey Sample			90 + 50%(1) = 91





Required Number of Responses	80% x 91 = 73





PERSONS PER HOUSEHOLD			285 ( 81 = 3.52





Total Number Beneficiaries		3.52 x 101 = 356





Percent LMI						274 ( 285 = 96.14%





Number of LMI Beneficiaries	96.14 x 356 = 342





Number of LMI Households		342 ( 3.52 = 97
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